

The Map showing diversion of 13.94 Ha (12.97 Ha for mining activity and 0.97 Ha for Connecting Road in mining lease ML No 2649) Forest area in Sy No. 65 of Hiremagi Village, Sy No. 116 of Ramathal and Sy No. 166 of Aihole Village in Hunagunda taluk, Bagalkote District



1:15,000

Leg	gend
	GPS P

GPS Points

Village Border

Components

Road\_Drain

Road\_PAVEMENT

Road\_Shoulder

Mining area

Area Statement									
	Components V		Survey No.	Total Area extent for FC					
SI No		Village Name		Length (M)	Width (M)	Extent in (Sqm)	Extent in (HA)		
Forest									
1	Road_PAVEMENT	Hiremagi	65	1413.02	4.30	6076.00	0.6076		
2	Road_Drain	Hiremagi	65	1425.00	0.40	570.00	0.0570		
3	Road_Shoulder	Hiremagi	65	1416.92	1.30	1842.00	0.1842		
4	Road_PAVEMENT	Ramathal	116	201.16	4.30	865.00	0.0865		
5	Road_Drain	Ramathal	116	217.50	0.40	87.00	0.0087		
6	Road_Shoulder	Ramathal	116	199.23	1.30	259.00	0.0259		
7	Mining area	Hiremagi	65	-		127492.00	12.7492		
8	Mining area	Ihole	166	-	786	2233.00	0.2233		
Total						139424.00	13.9424		
Non-Forest									
1	Road_PAVEMENT	Ramathal	105,	264.65	4.30	1138.00	0.1138		
2	Road_Drain	Ramathal	106,	260.00	0.40	104.00	0.0104		
3	Road_Shoulder	Ramathal	107	264.62	1.30	344.00	0.0344		
Total					1586.00	0.1586			

For Doddanavara Brothers



(Rachappa M S)
Project Proponent

















